HFHE/\F—> / No Carrying Handle pattern

4\ %8 / External view

D view

D+16

(¢
H+16
43 43

E view

L~

A view

W+16

—— T
° o

R

F view

[

¢

KIA—F—H—FFT—RE£RHEDTY,

X Corner guard should fasten together with enclosure when assembling.

(150~199)

¥ERLRNZA / Components
No. £ %5 / Part name #=E / Pcs #ME / Material £ - RE IR / Color-Finish
1 $178— / Top Cover 1 7 JLZAR /Aluminium A1100P t1.5 ARV JLIN—- 2% / Metallic Silver+Painted
2 v —% / Base 1 T IJLEHR /Aluminium A1100P t1.5 A1)y JLsN—+ 2% / Metallic Silver-Painted
3 a—+—H—FK / Corner Guard 8 TPE TS99+ L—%AE—-LYEK / Black-Gray-Navy*Red
4 BATE R(RATUFHRILEMA x 8) 18 E S Z@mE/aA—+
screw (Hexagon socket head M4 — 8) steel Black trivalent chromate

MAN—EDv—DEMMEFNIE T, / Inner side of cover and base are conductivefinished.

C view
43
3 | o)
N
l
o
(e°)
N/ | o
L
W )

(1]

D
(300~400)

ir—REI% MCGF -

Product Number

B view

-I' N

W

H

D

W.H,D~T ;% HIBREEFH / Dimension limit range

W

H

D

150~199

80~124

300~ 400

fBiES IMFRLEF
Color Code Carrying Handle Code

[TAKACHI] #X&#tahFEHIE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title
A—F—H R IY—A R —R
CUSTOM DIMENSIONS CASE with CORNER GUARD

o]

itk (BUFEXREDOQ) / Color Type (End of product numberd)
25 / Code ZR{KX / Body O—F—AH—FK / Comer guard | ERF / Carrying Handle
SB-N A1) JLiN— / Metallic silver 75w% / Black 7L / None
SG-N AB1) 9 )LsN— / Metallic silver 4'L— / Gray %L / None
SN-N AR1)w93 )LiN— / Metallic silver AE— / Navy 7L / None
SR-N A1) JLiN— / Metallic silver Lwk / Red 7L / None

R/ Approved

iR

1% [X|/Checked

1% H

#IX]/Created

e

B F /Product number

MCGFO-O-O(W=199,D=300)

RFE/Scale

YERL B /Date 2019/02/22




EF#/\2—> / No Carrying Handle pattern

$17\— / Top Cover

E view

4-M4x0.7/N—) 5 T
4-M4x0.7Burring

D view A view

F view

15

15

15

1.5

15
C view B view
2-M4x0.7/.\—1 5T
15 2—-M4x0.7Burring 15
[[p]
3-@5.5 -
T
[l'p)
©
1.5
fnd/Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

A—F—H—FH I —F AR —2
CUSTOM DIMENSIONS CASE with CORNER GUARD

o]

A& 8/ Approved

iR

1% [X|/Checked

1% H

#IX/Created

e

R /Product number

MCGFO-O-O(W=199,D=300)

RFE/Scale

YERL B /Date 2019/02/22

2 /6




HFHE/\F—> / No Carrying Handle pattern

<%—<, / Base

D view

EESENE

E view

4-M4x0.7/N—)> 5 T

4-M4x0.7 Burring

Inside Conductivefinished

N

A view

F view

15

15

13.4

13.4

W-3.2

12

12

H-1.6

C view

3-M4x0.7/\—1> 5 mT
3-M4x0.7 Burring

B view

10 10

I;=,\ o

V4 N o
15 15

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title
A—F—H—RETY—F (X —2Z
CUSTOM DIMENSIONS CASE with CORNER GUARD

o]

A& 8/ Approved

iR 1% H

1% [X|/Checked

#IX/Created

e

R /Product number

MCGFO-O-O(W=199,D=300)

RFE/Scale

YERL B /Date 2019/02/22

3 /6




HRFEBY/NF—> / Pattern with Carrying Handle

4\ %8 / External view

D view

o

E view 26
AN
° °
o
g s O
N
(DAY
L -~ e
W+16
A view
43 o | 43
©
™
< =
© @ $ S
y T
T o
< @ Lj] <
Q
w
(150~199)
F view

O

B ¢)

KIA—F—H—FFTr—RERHED TS,

X Corner guard should fasten together with enclosure when assembling.

C view

HERBAZA / Components
No. 2 / Part name = / Pcs # & / Material £& - RMEALIE / Color:Finish

1 #$3/8— / Top Cover 1 7 ILEHR /Aluminium AT100P t1.5 | AR1) oS JL/N—ZE%E / Metallic Silver Painted
2 v—% / Base 1 7 JLEAR /Aluminium AT100P t1.5 | A1) w9 JL/IN—EREE / Metallic Silver Painted
3 d—4—H—F / Corner Guard 8 TPE 75995 L—-RAE—-LvE / Black*Gray-Navy*Red
4 |BFERGRANRSRILIMA x 8) 18 £ =fiEsai—k

screw (Hexagon socket head M4 — 8) steel Black trivalent chromate
5 HYZF / Carrying Handle 1 PU. PA. ABS. Steel J5w4 -4 L— / Black-Gray
6 |RFRFER(FREYELSMS x 8) 4 E7S =ffiyoA—k

screw (Panhead tapping M5 - 8) steel Trivalent Chromate

KON—EY—LDEEEBELETY,

B view

43 43

xﬁ
D !
lL‘ 0 .Jl

D
(300~400)

r—REE MCGF - - )

Product Numb L5 A0S
roduct Number W H D iS5 MFES

/ Inner side of cover and base are conductivefinished.

Color Code Carrying Handle Code

W.H,D~T ;% HIBREEFH / Dimension limit range

itk (BFEXREDODQ) / Color Type (End of product number) w H D
585 / Code K / Body O—F—H—FK / Comer guard | ERF / Carrying Handle 150~ 199 80~ 124 300~400
SB-B AB1) 3 )LsN— / Metallic silver 75974 / Black 75v7% / Black 4 /Title
SG-B A81)y5% )L13— / Metallic silver JL— / Gray 594 / Black [TAKACHI) #X&HanFERTSE A—F—H—FR I —H A X —R © |:]
SN-B ;U}'U\ygi/)b/ \— / Metallic silver 7«1’5? / Navy 7:?“/7 / Black TAKACHI ELECTRONICS ENCLOSURE CO., LTD. CUSTOM DIMENSIONS CASE with CORNER GUARD
SR-B A3y T \_ / Metallic silver ,Ljﬂj}\ / Red 7?“/7 / Black R/ Approved %X /Checked #IX/Created R /Product number RFE/Scale
SB-G AR1)493 )LIN— / Metallic silver T5w9% / Black J'L— / Gray
SG-G AR1)w493 )LIN— / Metallic silver 4J'L— / Gray S'L— / Gray MCGFO-O-0O (Wé 1 99,D ; 300)
SN-G AR1)w93 )LIN— / Metallic silver AE— / Navy S'L— / Gray iR 14 H x 4 / 6
SR-G AB19HS JL1A— / Metallic silver Lk / Red 5L— / Gray fERE/Date  2019/02/22




HRFEFY/\2—> / Pattern with Carrying Handle
$37/N— / Top Cover E view

15 15
©
4-@5.5
4-M4x0.7/8—1) 5 T
4-M4x0.7Burring
o
D view A view
1.5 1.5
W
F view

127.5 28

28

C view B view
2-M4x0.7/.\—1 5T
2-M4x0.7Burring
15 15
o
3-@5.5
Te]
EHERLE
Inside Conductivefinished
4 /Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

A—F—H—FH I —F AR —2
CUSTOM DIMENSIONS CASE with CORNER GUARD

o]

A& 8/ Approved

iR

1% [X|/Checked

1% H

#IX/Created

e

R /Product number

MCGFO-O-O(W=199,D=300)

RFE/Scale

{ERL B /Date

2019/02/22

5 /6




HRFEFY/\2—> / Pattern with Carrying Handle
vx—< / Base

E view
13.4 13.4
2 iy E——— ™
4-M4x0.7/.8—)> 5T
4-M4x0.7 Burring
ol o
D view . : B vi
A view C view view
EEERNE
Inside Conductivefinished 10 10
3-M4x0.7/.3—1 45T
© 3—-M4x0.7 Burring
T
o rﬂ\l ’==\I SE
[{=]
W-3.2 15 15

F view

mf/Title
HRRAUINTF BRI X A—F—H—EHTY—H AR —Z O]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD. CUSTOM DIMENSIONS CASE with CORNER GUARD
RFE/Scale

752/ Approved 1% [X|/Checked #IX]/Created B F /Product number

MCGFO-O-O(W=199,D=300)

PR H#H x 6/ 6
e E/Date  2019/02/22




